1. AdEa 9 F5] MEE N(a) 2 UEFE T N(600) x N(a) = 96 S
A a oA 71 #He 5 Foki?

@ 4 @ 6 3 8 @ 9 3 12



4p?q® 4 o
,n o] kg0
a9l M4
Tatef=t,
(2
’lj¢

qg+2R%

o]

n =
25)

v
w
=



A a O F50] AHE f(a) o2 F W, £(30) x f(x) =

WS 7)E A A 244 x o] 3hed

@D 2 ® 3 3 4 @ 5 B 6



4.

oks=0] 747} 12 ¢l 7HA 2R

[e]
T

el

@D 12 ® 18 3 24



5 27k 010}_77_ o] E7F _,47}
% Abgo] ol 41k AgE?

. s o

D5 @ 10¥ ® 15«

@ 20 ¢

G 35 &



= dF A F APl A HA, B, C
AL &S P E SAlOl T

342 Fatolet,

acl-: 3]



ot} Bla= 247 5 A, 3 duteh AN Z Lo 7 RHA S e
ek 41 dado owﬂ AL B 24T okl & WA=
A AAAE B 7he E2 T 2U1A] Fopole,

D ER K29



A



9.

2 x5x X7 9] oF49] A5} 32 At

5ol 52 2L S5 H 2712 At



1Bl ey 22 x o 7}

% olelz] Stafodzet,

10, Ahed4: oF40] |47k Al ol 4
a5k Lo 572 7+ 44

YR
<t



11, nx52x 74 9] o€ 447k 105 42 W, n o] H%:3bE Tokoder,

>R
=%



12, ax3*x5° 3360 ©] oF4=2] /a7t 22 o, a ©f #SgkE Fotei .

>R
c



